Force Problems

One end of a rope is connected to a mass M;=10kg. The

rope passes over a massless frictionless pulley and the M =10 é}
other end is connected to a mass M, = 5kg. M is initially '
resting on the ground and M, is suspended 3m above the /{/' . /?}
ground. The system is initially at rest. M .

p 0 )’f = 3 "
If M, is released and allowed to hit the ground, what is the 7/ i O
maximum height that M, will reach? (
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So: My will accelerate uppards ﬁ4roybv a dry tance h

4o M, Falls

When M, Stoes (éemm'e 't hit the }raan) A,
w il have an upwﬂfa( ’Vc/o'cfe)’ and w11/ continge.
wp For an addition al Adseance b,
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Wow, Find b, given Vi
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